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B.V.Sc. & A\./H. (First Professional) Examination - 2022
Se eterinary Physi B
g ary 1 !belol()gy Paper 11
3 : (MSVE 2016)
. urs
lhe}' Time: Three Ho Maximum Marks: 100
> h ' ; : Weightage: 20
Oy Unit3 : Excretory and Endocrine Systems, a
ofy, Unit-4 : Reproduction, Lactation, Growth and Environmental Physiology
[nstructions:
st,‘ons ) Attempt all questions
2) Answer of all questions is to be written in th e i g
the question in question-booklet. il
Sy 3)  Overwriting is not allowed in the objective type question.
deal Q.1 Fill in the blanks. ‘ (20x0.5 = 10)
1.1 is an example of long-day breeder animal.

helps to regulate energy

fore 1.2 jbiting hunger, which in
1 turn diminishes fat storage in adipocytes. A
1 is 13 is hypoglycemic hormone.

1.4 Chalones act as inhibit activity of cells.

1.5 7 is an example of monoestrus animal.

1.6 is mdre mn peripheral vasoconstriction apdblood pressure.
( .

1.7 \ plovities a more reliable measure to estiate the age of the fetus.

1.8  Sweat glands are dbsent in : 3

1.9 Mammary gland growth shows ____ / shape of curve.

1.10 of brain is involved in anger, excitement, sexual

activities and hunger.

t from the metabolic breakdown of B

LIl Creatinine is an epd’produc

112 Kidneys of birds can synthesis nitrogenous end product called

113 The content of a-lactalbumin in the mammary tissue is an indicatorot

114 R e is the act of mating in sheep.

L15 o e i
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__ part of ovidygy
ccretion through —————— .

; ible for s .
1.16- The color of eggs 1S responsub ittt

1.17 A glance penis is present in is the variable constituent of the milk.

1.18

hows the classical conditioning kind of the

iment S
experiment
1.19

learning. tissues are often occurs before the birth only,

1.20 Differentiationofthe

" correct answer 1 ¢
Q.2 Choose the most suitable answer and write the nl:i':;:l"cr ?;5:;.5 ~10) r2
or 3 or 4 in the space given against each sub ques e

2.1  Allen’s Rule stated or related to '
I. Internal body changes with climate
2. Extremities of the body
3. Body coat color
' 4. Insulating cover -
2.2 ANPisreleased from organ
SRR " . 1.- Liver
2. Kidneys
3. Heart
. By 4. Spleen
2.3 Which one of the ]

llowing is NOT amino acid derivative hormone ( )

24

25

imple sleeb

nephrons are Present in birds

I. " Reptilian type ; )
Mammaliap type

3. Both] &>

2.6 Ty

s 0
2.7 four indj
The behayioyr m.dlcates preference to live j
g0 il Ve in flocks or herds
Communication beh |
reggrious behavig
Agonistjc behavioy

aviour
ur
r
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2.8

2.9

2.10

211

2:13

2.14

2.15

2.16

which is NOT a sensible heat loss mechanism?
1. Radiation (
2. Sweating
3. Conduction -
4. Convection

Which Ot;fhcj\%lﬁwmg synthesized in posterior pituitary ( )
2. CRH
3: AGIH
4. None

Loop is responsible to permeable to water but impermea
1. Thin descending limb -

2. 'Thick descending limb

3. Thin ascending limb

4. Thick ascending li

Length of estrus in mare.i

Tecotelic animals excrete nitrogenous end product in their excreta ( )
1. Ammonia '
2. Urea
3. Uricacid
4. Ureome
Which compound is not used to measure GFR
1. PAH
2. Inulin
3. Creatinine
4. Urea

Jodine is present in the hormone ( )

4. Thyroxine
Growth process involves increase in the number of the body cells are called as (),
1. Compensatory growth _
2. Intussusceptive growth
3. Hypertrophic growth
4, Hyperplastic growth

Free running period is controlled by hormone ; ( )
1. ACTH
2.  Melatonin
3. Neurine
4, TSH
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2.17 Diffuse type of placenta found in
: 1. Cows
2. Mare
3. Cat
4. Monkeys

2.18  Urinary bladder is developed from layer during
. Endoderm
2. Ectoderm
3. Mesoderm
4. Neuroderm

embryogenesis  ( )

2.19  Pancreas produces glucagon by cells
1. Alpha cell
2. 'Betacell
3. Delta cell
4. Gamma cell

2.20- Gestation period of buffalo

280 days
310 da

|

2.
3,
4

Q.3 Attempt

t. ' i ' :
Sl ten out of the following twelve questions. Answer of each question

in 2 to 3 lines. (10x2.0=20)

3.1 Why color of urine js yellow?

—-—— Donot write across this line
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3.3 Define Nephron.

——
———

3.5 Name few tissue specific growth factors for develc;pment and proliferation of the bell

> Mrcomm i Iliryew

3.6 What do you mean by false growt

3.7 Define Circadian rhythm?

Q~
T
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3.8 Why polar is called as false hibernating animal?

- 3.9 Name hormones of the adrenal gland.

Donot writa across this line

CamScanner



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

_———Please write your Roll Number abovethis fine ... - =
,’///////

Name different period of the estrous cycle,
A2

--------------------------------------------------------------------------
e

——

4 Attempt any six out of the following eight questions. Answer of each question should
" pein 8 to 10 lines. : (6 X 6.0 = 36)

Spennatogenesis in the testis.

— - /

[}
’
e A S

Donot write across this line

Y 42  Lactose sypHfcsis in udder tissues
)

-
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43 Exolain di . ;
Explain difTerent ingestive behaviour in animals.
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